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2018FF=FHABEER

SEWA 65,326 100% 58,476 100% 11.7% 60,579 100%  7.8%
=SEER 6,893 10.6% 6,432 11.0% 7.2% 6,702 11.1% 2.8%
=FEH 5807 8.9% 5524  9.4% 5.1% 5825 9.6% -0.3%
SEFH 1,170 1.8% 930 1.6% 25.8% 933 1.5% 25.4%
=FEIMZA 17  0.0% 256 0.4%  -93% 867 1.4%  -98%
A EF 1,187 1.8% 1,186 2.0% 0% 1,800 3.0% -34%
éﬂ#i‘%?ﬁé 912 1.4% 881 1.5% 35% 1,449 24%  -37%
BER (& ) 0.30 0.29 0.48
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SEITA 178,605 100.0% 170,236 100.0% 4.9%
=FEEF 19,083  10.7% 18,214 10.7%  4.8%
=%EH 16,563 9.3% 15,989 9.4% 3.6%
=SEFF 2,647 1.5% 2,380 1.4% 11.2%
ZRIMIA 750 0.4% (342) -0.2% N.A.
5 B3 3,398 1.9% 2,038 1.2% 67%
SHEE=S 2,501 1.4% 1,755 1.0% 42%
BREF (Fia% 1) 0.83 0.58
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IREHEAEIRE 30,416  19% 30,802 20% 27,532  18%
EUIRREAE IS 47,252  30% 44,711  29% 43,904  29%
=75 43,109 27% 42,308 27% 43,765  29%
RHKRE 5487 3% 5896 4% 5487 4%
BEEEE 3,960 3% 4,007 3% 4110 3%
EmEEE 17,305  11% 17,345 11% 17,442  12%
BEMAE 157,827 100% 155,924 100% 151,509 100%
FHAfE X 3,582 2% 1,000 1% 2,912 2%
FEIRRX 44,354  28% 41,450 27% 37,299  25%
mENg E4Rst 95,795  61% 91,076 58% 88,576 58%
RHEIER 17 0% 3,318 2% 3,301 2%
B &4t 99,204 63% 97,758 63% 94,722 63%
AR ES*4A5T 58,623 37% 58,166 37% 56,788 37%
iEE:

1. ESNFUBE BRI 3,029,756,538/; BRIFENTS 19.05
acer 2. *RREZEZFEHES
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